





Atgol 2 L

5

3
6oL o] 55 9 Algo] Zro] vhirof nhagy

3.

a7






o
i—‘:
l_ﬂ
ofll
1o
N




6.

e AR B [ el
438 +6 =73 =438 +6=] |

YR
-



7.

o]&olE 11.7kg o W7tEE 6FolA Uiro] 1
BollA 2 kg thro] FH B kA L.

S

Ot

1

e,

rek



8.

WeAlS shA L.



9. o= I"S 2L Zhol oiF (1) o HIE s L.

oh R|RR
o RARAR{R



10. oee

[ishA2.







BAE], BRAY 57} vt QAE e ol

= ¥,

1—7]

Z!

ojn

o

12.

@ (2) - 1274 ® (3)- 87

@ (1) - 770

® (5)- 87

@ (4) - 147






of S
o}

B
al

1

B
BH



15. ohe LAl B, uh2 ] 9 2 of

35.28 +7

@ ® ©@ ® ©




o0
olJ

To°
e

o

olJ

iy
1o°

39] mlqguict,

5

@ 5 o

L 54t}

™
ol

oy
__OO

® Hlo]



17. o5 I2"& 22, (W) 9 el digh (71 & As=9] HIE F-shA L.

COR 2.2.8.9.8.8 ¢
(L) ek ko




18. The % THE Shuhe ol AU

@D 8:5 @ 8ol gt 59] H
@ 8d5 @ 89 59 tigt H
® 59°] that 8 2] H]



19. O%ll >, =, <& &IA A oA e,

3 1
6— X2+ 4- +
4>< 9 0O 5 x4




Lol A 74 84 Aol o] PAEZ ZE Lehd

] J—’_E/\]SL
=(ZAH )
o] )< (9] )
F)=(LHe| ¥
F)<(FAH L 4
)>(EH ol Hoj

~—

4>

\__12.
X
()

~—



21. % 50 2712 Huste] >, < B =5 g

6.4+40948+6




22,

47
&5

rE Lo

v
o

A7F &

u |

-

"_

o
-
fo

.o]:
C

AL 16 7HE Aol g1 A8 AAEY 11.3kgo] 2
FAZ0.75 kgD w, AR} g O] FAE oF F kg 1A

A A4 A 7EA] YR AL L. (0.666 - — SF 0.67)

kg



23. Wo] 160131, 017k 591 A
Hh27] e 21 of = AU

D 16:5 @ 59 16°] th3l 1
® 169 5 @?

® 59 st 1629 H]



24.

L



25. Wol7} 422 em? Ol A2/ sem 91 AN L BP0l 4 2oz

rggeh, @ 229 2t E om 97 FoHAS.

@ Zcm @ 2=cm ®4§cm

2
@ 6? cm ® 8=cm



